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https://www.100test.com/kao_ti2020/646/2021_2022_2011_E5_B9_

B4_E8_81_8C_c91_646129.htm 下面有3篇短文，每篇短文后

有5道题。请根据短文内容，为每题确定1个最佳选项。 第4部

分：阅读理解(第31～45题，每题3分，共45分) 下面有3篇短

文，每篇短文后有5道题。请根据短文内容，为每题确定1个

最佳选项。 36. According to the passage, the new biology could

potentially solve the pollution problem of automobiles by A. using

metal-hungry microbes. B. making use of enzymes. C. adjusting the

engines. D. patenting new lifeforms. 37. According to the passage,

which of the following would most probably worry the critics of the

following would most probably worry the critics of the new biology?

A. The microbes in the ocean warter. B. The creation and application

of biological solar cells. C. The accidental oil spills. D. The

unexpected release of destructive micrbes. 38. Which of the

following possibilities of the biotechnological applications is NOT

mentioned in the third paragraph? A. Developing a savings bank of

ones orangs. B. Breeding soldiers for a war. C. Producing people

with cow-like stomachs. D. Using genetic forecasting to curt diseases.

39. According to the passage, Hitler had attempted to A. biologically

change the pilots to win the war. B. develop genetic farming for

increasing the food supply. C. kill the people he thought of as being

inferior. D. encourage the development of genetic weapons for the

war. 40. What is the implication of the sratement of Jeremy Rifkin

and Ted Howard? A. The commercial applications of genetic



engineering are inevitable. B. Large-scale genetic engineering has

occurred in the Untied States. C. Americans are proud of their

computers, automobiles and genetic technologies. D. The potential

application of each new genetic advance should be controlled.

#0000ff>点击进入论坛查看答案 100Test 下载频道开通，各类

考试题目直接下载。详细请访问 www.100test.com 


